
Název bodu
x y

stoka Š
Š2 X = -665268.9415     Y = -1060080.5661
Š3 X = -665271.3077     Y = -1060076.7332
Š4 X = -665245.6313     Y = -1060062.2695
Š5 X = -665218.0649     Y = -1060039.5853
Š6 X = -665198.8309     Y = -1060024.5643
Š7 X = -665167.1224     Y = -1060002.4810
Š8 X = -665151.2459     Y = -1059991.5968
Š9 X = -665142.2591     Y = -1059989.0092

Š10 X = -665151.2459     Y = -1059991.5968
Š11 X = -665083.0650     Y = -1059939.7532
Š12 X = -665068.7763     Y = -1059932.5539
Š13 X = -665057.8006     Y = -1059920.9905
Š14 X = -665041.8389     Y = -1059885.3957
Š15 X = -665048.0659     Y = -1059878.7039
Š16 X = -665032.4368     Y = -1059851.9524
Š17 X = -665017.9435     Y = -1059831.0083
Š18 X = -664996.9959     Y = -1059872.4608

stoka Š2
Š19 X = -665316.6804     Y = -1060101.3556
Š20 X = -665356.9991     Y = -1060124.9475
Š21 X = -665400.1902     Y = -1060151.1689
Š22 X = -665438.2564     Y = -1060173.3641
Š23 X = -665462.1214     Y = -1060186.6117
Š24 X = -665487.7690     Y = -1060196.5147
Š25 X = -665516.9988     Y = -1060206.7438
Š26 X = -665565.2362     Y = -1060225.1662

stoka Š2
Š31 X = -665256.6963     Y = -1060101.3848 
Š32 X = -665227.0402     Y = -1060083.6921
Š33 X = -665191.8888     Y = -1060062.2358

Tabulka vytyčovacích souřadnic - Škudly
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